
©	2021	The	Algebros,	LLC	
 

6.2	Equations	using	Distributive	Property						 																				Name:________________	

1.      12 = −2(& − 3) 
 
 
 
 
 
 
 
 
 
 
 

2.     4(2* + 2) = 64 
 
 
 
 
 
 

3.     3- + 4 − 2- = 13 
 
 
 
 
 
 

4.     5/ − 2(/ − 3) = 21 
 
 
 
 
 
 
 
 
 
 
 
 
 

5.     4 = 40 + 3(51 − 2) 
 
 
 
 
 
 

6.   −4(41 − 3) + 2 = −2 
 
 
 
 
 
 

7.     1.23 + 2.4(3 − 10) = 12 
 
 
 
 
 
 
 
 
 
 
 
 

8.     28 = −2(5 − 6) + 10  
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 

	

	

	

	

CA #1 


